Multiply & Divide

Calculator Fluency

Directions: Solve using a calculator. Use some answers to solve the riddle.

What begins with T, ends with T, and has T in it?

Name
Date

Reminder

The fraction bar also
means division:

%>3+4=0.75

T. o. H.
2375 1,113x 712 = 10,080 + 120 = 16,225 x 219 =
25
W. A. D.
541 x219 x 989 = 7,658 x 111 = 0.412 + 0.004 =
24,820 _
68
C. M.
24,587 x 71 = 13,253 +29 = 4,904 x 196 =
2,314 _
26
E. K. T.
5,233 x 238 = 2.382x1.2=
249,900 _ 23,520 _
49 240
0. E. P.
3.27x0.123 = 0,887,745 5.470 x 24.8 = 0.924 +0.042 =
15 -

7.632 ‘ 0.077 ‘ 365 ‘ 9,373 ‘ 98 ‘ 659,183 ‘ 135.656 ‘ 22 ‘ 0.40221 ‘ 95 ‘ 45.9807 ‘ 96 ‘ 9.223

Meticulous = showing great attention to detail; very careful and precise.

TpT - ©OThe Harstad Collection




MU|tiD|V & Divide AM@WER KE?
Calculator Fluency

Directions: Solve using a calculator. Use some answers to solve the riddle.

What begins with T, ends with T, and has T in it?

Reminder

The fraction bar also
means division:

% >3:4=0.75
T. 0. H.
2375 _ o5 1,113 x 712 = 10,080 = 120 = 16,225 x 219 =
25 792,456 84 3,553,275
W. A. D.
541 x 219 x 989 = 7,658 x 111 = 0.412 =+ 0.004 =
24,820 _ .-
117,175,731 68 850,038 103
C. M.
24,587 x71 = 13,253 +29 = 4,904 x 196 =
2314 _ gg
1,745,677 26 457 961,184
E. K. T.
5,233 x238 = 2.382x1.2=
249,900 _ 23,520 _ o8
9 1,245,454 2.8584 240
5,100
0. E. P.
3.27x0.123 = 9,887,745 _ 5.470x24.8 = 0.924 +0.042 =
0.40221 15 - 135.656 22
659,183

7.632 ‘ 0.077 ‘ 365 ‘ 9,373 ‘ 98 ‘ 659,183 ‘ 135.656 ‘ 22 ‘ 0.40221 ‘ 95 ‘ 45.9807 ‘ 96 ‘ 9.223

Meticulous = showing great attention to detail; very careful and precise.
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